Linear Equations

E;La..wp(e.!
D x + 2 =6
pra - & -2
X = 4
ZB “\ -3 = S
= 1 F =
= $F3
4 = &
3) 7~ = 10
= =0
2.
x = 2
2
x = 3




- = &4
=~ x3 = 4
3
X = 4 x3
X = 12
FU'{'&L\,C.K EKQKF(C'S.
D X 4+ )] =16 2>
> = |]O-7]
> = 3
3
) Sx. = 12 4>




4) = -3 £)

X — S = 2,
2 = 2 +¢
X = 1
thlé,
x = 16
€
o> = 2
> 203
S
xX = 3Ix§
2 = Y
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Equations With x on Both Sides

Exl S =3 = 3 + I
Coe — 3T =+ +3
2.~ = 14
> = 1%
2
> = 7
Eer ¥ +7 = 27 — I
3 + T = 277 =7
| O>¢ = 2220
> = _2_2
10
X = 2
Ex R 43 - 14 = 39x + |
A3x. — 4« = 41| 419
2> = 20
x = ze
4




Exa

S +4 = 1L -
Sx +xx = |6 —4
G = 12
x = 2
G
2 = 2
s) S3x +49 = Slx +5€
3o — Sl = 5 —a49
2 5t = 6
2 = __C;_
2




